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4. How is a Pareto chart different from a sta

ndard vertical bar graph?
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Graphical Analysis In Exercises 13-16, what can you conclude from
the graph? -

13. Top Five Sports Advertisers 14. Stock Portfolio
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2003 2004 2005 2006 2007
Year

Advertising
(in millions of dollars)

Value (in dollars)

(Source: Nielsen Media Research)
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15. How Other Drivers Irk Us 16. Driving and Cell Phone Use ‘S_
Too cautious 2% Ignoring signals @ 50 g
i 3% g &)
Speeding o 2 g
7% Using cell 5 8
Driving slow phone 21% % 30 B T g
b5 e — O i
13% Using two —aﬂé A . T ‘2 g IN £ &
No signals parking spots CR ' _]“" T g =
13% 4% : Al s b g <
Swerved Sped Cutoff Almost [33)
Other 10%~" Bright lights Tailgating up  acar hitacar <
4% 23% Incident gl
(Adapted from Reuters/Zogby) (Adapted froim USA TGDAY)
24. NASA Budget Use a pie chart to dis

lay the data.
2007 NASA bu dget (in millions of dg play the data. The data represent the

X
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(Source: NASA) llars) divided among three categories. = §
) S
N
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Science, aeronautics, and exploration 10,651 L 2
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_ Inspector General 34 3 § § < |:_ .
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26. UV Index Use a Pareto chart to display the data. The data represent the ~ =S S T é
ultraviolet index for five cities at noon on a recent date. (Source: National _g_ §~ S il [ V\A‘“—EO/
Oceanic and Atmospheric Administration) E :;0 ~§~ az ]
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